Lecture3 L7 e V)

TLeoreri'.’ Lot Y)Yo.hcl T be vector g.dd;;;u-\l -
%iven bq AT RGE

y: —-?—--1-—!- -?—' 2 %
3 x 2‘3 ot i
SN B ) B g,
\/ dYy 3 ot
G\h(?\ ..._‘_. — ’_B__. L A T S O S

Preof : We. g-.-gt provethatl XEhigdebd [

2

A AR PRI N N 55 |2 0,2
| Le'f.' U-—-(,”h V) 3 (5‘ ‘3) ‘_L(:"'.h Ecw a“ %QC (‘H)

B (N IERIER ((COREH ) i e

E(_u.-c-x \H"a)‘_)%-t-l--—-(vg u_(a))

i T B Cast )G}H'
Let ( Y= (urx, “*b)”f*—(”‘“‘a)) Then
(c., )% )(3; b) R _"—
,< 3“‘"‘ {(l(w 5)%)(5 “»)1 _j“

o~ %E;(_)‘* (h“ )ag( <) “"—-'}—_g.(_c-o

Then $90Y, T} s basis Roothie 0o




— e ST L:.dg) v, 1€ 1 No, a,tmb
S . - ——— ‘__._4._.

o Ptk T, W 6 (22

T We cain tcle:*. RD Gund T(O_.o,o) ‘~'> % ﬂO(J'SG

| Locsue.rb\/ (ﬂ; L, Bwe.h {73
TV Ry atuak) = 2 50Ty -?-T'E?(m *)*w
2

—— —_

LUE.__G-_';%E—&..HA& ﬂ'cm ﬁeai U(..C.fol" Ry,

Vo=t o b oo>-f;;’-5+f$?f°«~°> S

S e
[ ; 9(5) ( y(.s) i£v] (’3)_“73’ (3)5 ice [R :




33
‘93 a”'.;) c":"'I'_'\’E'- ' H MLL"La‘t _ ﬁ B _--_H_________H__::—
e E(Gne), e

Y=o

Lt V }?e‘”«e vecitor g eld o H Ja% e by —
v E)(u,‘a E = _.\ g((»,; ADE ?(s)) (x 3,+. #.fﬁ

He.; e gor a” ()‘ B ('.")G ,H' _ e _:“ .___"__,,

®1wmo - _
1 f(\.-s-}?(_s:) 9 ;-9(5)){,4.? (g>+t+§ (s) ~+-—(-3§’ (_s)-u?(s))
=5

= 9/(e) aﬁ(x 9, 6)+ ! (—°)E€ &, :\)l:) .

+ (% (c) - g? (c, TRy co)) zn,:rt)

_ S __- v
6/ E)G‘ _5‘[1 = % 3_[)2(}_ 3&,) bﬁ(k,g“&)
.} "'q“"_“h“) —g("b‘a w&)

. | %o \} &"1‘“‘90 v\&) T | S A A T

i g L= +c:'. E_)__ SRR o G 55 S
Dx 29 ‘D‘E; |




